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Bl EBlé EEl: g B
fwd ( tau) { bwd ( tau) {
servoL.write(32);//30 servoL.write(145); //150
servoR.write (150); servoR.write(30);
delay(tau); delay(tau);
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FoimEE)

ccw ( tau) {
servoL.write (90);
servoR.write (150);
delay(tau);

BimED)

cw ( tau) {
servoL.write (150);
servoR.write (90);
delay(tau);
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stp ( tau) {
servoL.write (90);
servoR.write (90);
delay(tau);



R x IR =105

void fwd(int tau){
servoL.write(30);
servoR.write (150);
delay(tau);

}
ifa] tau Z58EN U CEEREZ1S D

void rot(int tau){
servoL.write (150);
servoR.write (150);
delay(tau);

}
IrfE) tau 385D U CeExmA,
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#include <FastLED.h>

. int ledState = 0;
#include <IRremote.h> 1 ’

void loop(){
if (irrecv.decode(&results)){

delay(200);
Serial.println(results.value, HEX);
ledState = 1l-ledState;
if (ledState){

leds[0]= CRGB(0, O, 255);
}else({

leds[0]= CRGB(0, 0, 0);
}
LEDS.show() ;
irrecv.resume();

const int ledPin=4;
CRGB leds|[1];

const int irRecvPin = 11;
IRrecv irrecv(irRecvPin);
decode results results;

void setup(){
delay(2000);
LEDS.setBrightness (127);
FastLED.addLeds<WS2811,
ledPin, GRB>(leds, 1);
Serial.begin(9600);
irrecv.enableIRIn();

}
O VUPIL s EZY— : ESNERYVDBEHRZIRY




results.value(32bits)

® OO ~ /dev/cu.usbmodem142

77E1A046

77E15046

77E19046

77E16046 Apple remote
77E13046

77E1C046

F148724C

F148F244

Fl48gAdg Sharp TV remote
F1488A4B

F1484A47

F148CA4F

M EsRs0-) ‘%720 s (9600 baud %)




HEX

N 6OV U W NERO

res2 = getbits(results.value, 15,4);
181716 1514131 110 9 8 7 6 5 4 3 2 1 O
ojloflr|{1fjojjr{joj|ojjofiojjoj|ojj1|iofjioj|o0fl1ij1}|i0

1 A 0 4 6
77E1A046
binary HEX binary 600 /dev/cu.usbmodem1421 |
0000 8 1000 - =E)
0001 9 1001 ;
0010 A 1010 :
0011 B 1011 :
0100 C 1100 ¢
0101 D 1101 :
0110 E 1110 ;
0111 F 1111 6
¥ a®Hzs0—L ‘7L '4) (9600 baud %)
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// ExamplelOOlA:IRremote: Example602A + Example 902A

#include <IRremote.h>

#include <FastLED.h> 2 3@27 Y ?7&/(5\1

const int irRecvPin
const int ledPin=4;
CRGB leds|[1l];
IRrecv irrecv(irRecvPin);
decode results results;

11;

void setup(){
delay(2000);
LEDS.setBrightness (127); // 0-255
FastLED.addLeds<WS2811, ledPin, GRB>(leds, 1);
// Serial.begin(9600);
irrecv.enableIRIn();

9D
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int ledState = 0;

void loop(){
if (irrecv.decode(&results)){
delay(200);
ledState = 1l-ledState;
if (ledState){
leds[0]= CRGB(0, 0, 255);

}else({
leds[0]= CRGB(0, 0, 0);

}

irrecv.resume() ;

}
}
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/*
* Example603A: JJ2-LED5-Demo
* H. kawakami July 8, 2014

*/

#include <IRremote.h>
#include <FastLED.h>

const int ledPin=4;
const int irRecvPin
CRGB leds[1];
IRrecv irrecv(irRecvPin);
decode results results;

11;

unsigned getbits(unsigned long x, int p, int n){
return (x>>(p+1l-n))&~(~0<<n);

}

void setup(){
delay (200);
LEDS.setBrightness (127); // 0-255
FastLED.addLeds<WS2811l, ledPin, GRB>(leds, 1);
Serial.begin(9600);
irrecv.enableIRIn();
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unsigned res2;

void loop() {
if (irrecv.decode(&results)) {
delay (200);
res2=getbits(results.value, 15,4);
if (res2==0x5){
leds[0]=CRGB (100, O, 0);
}
if (res2==0x9) {
leds[0]=CRGB(0, 100, 0);
}
if (res2==0x6){
leds[0]=CRGB(0, O, 100);
}
if(res2==0x3){
leds[0]=CRGB (100, 100, 0);
}
if (res2==0xa){
leds[0]=CRGB (100, 100, 100);
}
if (res2==0xc){
leds[0]=CRGB(0, O, 0);
}
LEDS.show() ;
Serial.println(results.value, HEX);
Serial.println(res2, HEX);
irrecv.resume();

HWEIhlRyVIcikk>-TEZZEZD
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/*

* ExamplelO002A: JJ2servo-Demo

* H. kawakami October 22,

*/

#include <IRremote.h>
#include "FastLED.h"
#include <Servo.h>

const int servolL Pin =
const int servoR _Pin

Ul ©
we we

Servo servoL;
Servo servoR;

const int NUM_LEDS=1;
const int DATA PIN=4;
CRGB leds[NUM LEDS];

int RECV_PIN = 11;
IRrecv irrecv(RECV_PIN);
decode_results results;
unsigned res2;

2014

Example603A+Example902A

unsigned getbits(unsigned long x, int p, int n){
return (x>>(p+1-n))&~(~0<<n);

}

int centerR=1510, centerlL=1541, pw=800;

void setup(){
delay (2000);
LEDS.setBrightness(64); // 0-255
FastLED.addLeds<wS2811, DATA PIN, GRB>(leds, NUM LEDS);

Serial.begin(9600);
irrecv.enableIRIn(); // Start the receiver

delay(1000);

servoL.attach(servol. Pin, centerL-pw, centerL+pw);
servoR.attach(servoR Pin, centerR-pw, centerR+pw);
stp(1000);
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void fwd(int tau){
servoL.write(30);
servoR.write (150);
delay(tau);

}

void bwd(int tau){
servoL.write (150);
servoR.write (30);
delay(tau);

}

void cw(int tau){
servoL.write(30);
servoR.write (90);
delay(tau);

}

void ccw(int tau){
servoL.write (90);
servoR.write (150);
delay(tau);

}

void stp(int tau){
servoL.write (90);
servoR.write (90);
delay(tau);

BEnfcRy vicE>TAMRY b ZEhT

unsigned res2;

void loop() {
if (irrecv.decode(&results)) {

delay (200);

res2=getbits (results.value, 15,4);

if (res2==0x5)({
leds[0]=CRGB (100, 0, 0);
LEDS.show();
fwd (2000) ;

}

if (res2==0x9)({
leds[0]=CRGB(0, 100, 0);
LEDS.show();
ccw(2000);

}

if (res2==0x6)
leds[0]=CRGB(0, O, 100);
LEDS.show();
cw(2000);

}
AtRIC, RYVOHELEITERT S

Serial.println(results.value, HEX);
Serial.println(res2, HEX);
irrecv.resume();



